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1. (a) Describe the various scales of Measurement. (5)
OR
Mean is considered to be the most important
measure of Central Tendency. Comment.
(b) Compute Standard Deviation for the following
data :
X: 15,14, 11, 11, 9, 6. Q)

(c) If a distribution is skewed, which measure of
Central Tendency should be used and why ?  (2)
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X: 15, 14,11, 11, 9, 6.
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2. (a) What is the reievance of derived scores in
Psychology ? Briefly describe the two types of
~ derived scores. (5)
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OR

Discuss the properties of the Normal Probability

Curve.

(b) A state university has no English Hons. Course,
instead places all freshmen scoring at least 60
on a proficiency exam (Mean =50, Standard
Deviation = 10) to an advanced composition
course. If the scores are normally distributed and
there are 2500 entering freshmen, how many will

be put into the advanced course ? )
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3. (a) What are the special features of Spearman’s

Rank-Order correlation coefficient ? 3

(b) Compute Pearson’s r of the following data: (7)
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4. (a) Discuss the similarities and differences between z
and t distribution. 6)

OR

Differentiate between Hypothesis Testing and
Estimation. What are the merits of Interval

Estimation ?

(b) The meaning of “retaining H,” is not exactly the

opposite of “rejecting H ”. Explain. (4)
[+]

(c) Given the following data from two dependent

samples :

n=64
r=+0.50
(i) Formulate a non directional hypothesis of no

difference between the two population means

(State H_ and H,) )
(ii) Calculate s,_; and t. 4)

X-y

(iii) Evaluate tat o = 0.01 and state your

conclusion. 2)

P.T.O.
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5. (a) F is an extension of t-test. Comment. &)

OR
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In the analysis of variance F test, why is it that
only the area in the upper tail of the F distribution
is of interest ?

(b) In a study 15 students were randomly assigned
to three groups of 5 each to determine the effects
of situations that produce different amounts of
stress. Find out, if there is a significant treatment
effect.

Group 1 Group II Group III

Vacation Class Exams
2 10 10
3 8 13
7 7 14
2 5 13
6 10 15
(i) Formally state H and H,. (2)
(i) Calculate F. (6)

(iii) Evaluate F . and state your conclusions at
o = 0.05. (2)
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3 8 13
7 7 14
2 5 13
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6. (a) What do you understand by Assumption-Free
tests ? 4)

OR

In the %? test, why only the area in the upper tail
is of interest ?

(b) Given below are the opinion frequencies of
students regarding sports facilities :

Good Bad Undecided
19 63 38

(i) Test hypothesis of equal preference at
a=0.05. 4)

(ii) State your conclusions. 2)
() AFaansh A Ao uRemh ¥ I wT EEQ 2
NG
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19 63 38
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